

KANSAS CORPORATION COMMISSION
OIL & GAS CONSERVATION DIVISION

1069096

Form ACO-1 June 2009 Form Must Be Typed Form must be Signed All blanks must be Filled

## WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License # 30345	API No. 15 - 15-207-27955-00-00
Name: Piqua Petro, Inc.	Spot Description:
Address 1: 1331 XYLAN RD	SE_SW_NW_SW Sec. 16 Twp. 24 S. R. 16 VEast West
Address 2:	
City: PIQUA State: KS Zip: 66761 + 1667	
Contact Person: Greg Lair	Footages Calculated from Nearest Outside Section Corner:
Phone: ( 620 ) 433-0099	□ne □nw □se Øsw
CONTRACTOR: License # 32079	County: Woodson
Name: Leis, John E.	Lease Name: Wingrave Well #: 46-11
Wellsite Geologist: none	Field Name:
Purchaser: Madaskey	Producing Formation: Squirrel
Designate Type of Completion:	Elevation: Ground: 1071 Kelly Bushing: 0
✓ New Well  Re-Entry  Workover	Total Depth: 1096 Plug Back Total Depth: 1093
☑ oil □ wsw □ swb □ slow	Amount of Surface Pipe Set and Cemented at: 42 Feet
☐ Gas ☐ D&A ☐ ENHR ☐ SIGW	Multiple Stage Cementing Collar Used? Yes No
☐ OG ☐ GSW ☐ Temp. Abd.	If yes, show depth set:Feet
CM (Coal Bed Methane)	If Alternate II completion, cement circulated from: 42
Cathodic Other (Core, Expl., etc.):	feet depth to: 0 w/ 8 sx cmt.
If Workover/Re-entry: Old Well Info as follows:	sx cmr.
Operator:	
Well Name:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Original Comp. Date: Original Total Depth:	,
☐ Deepening ☐ Re-perf. ☐ Conv. to ENHR ☐ Conv. to SWD	Chloride content: 0 ppm Fluid volume: 0 bbls
Conv. to GSW	Dewatering method used: Evaporated
Plug Back: Plug Back Total Depth	Location of fluid disposal if hauled offsite:
Commingled Permit #:	Operator Name:
Dual Completion Permit #:	
SWD Permit #:	Lease Name: License #:
☐ ENHR Permit #:	QuarterSecTwpS. R
GSW Permit #:	County: Permit #:
10/12/2011 10/13/2011 11/4/2011	
Spud Date or Date Reached TD Completion Date or Recompletion Date  Recompletion Date	

#### **AFFIDAVIT**

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

**Submitted Electronically** 

KCC Office Use ONLY
Letter of Confidentiality Received
Date:
Confidential Release Date:
Wireline Log Received
Geologist Report Received
UIC Distribution
ALT I I II Approved by: Dearwa German Date: 11/29/2011

Side Two



1069096

Operator Name: Piqui	a Petro, Inc.	····	Lease N	Vame: _	Wingrave		Well #: 46-	11
Sec. 16 Twp.24	S. R. <u>16</u>	✓ East   West	County:	Woo	dson		<u>-</u> -	
INSTRUCTIONS: Show time tool open and closs recovery, and flow rates line Logs surveyed. Att	ed, flowing and shut if gas to surface tes	t-in pressures, whethe st, along with final cha	r shut-in press	sure read	ched static level,	hydrostatic pressi	ures, bottom h	ole temperature, fluid
Drill Stem Tests Taken (Attach Additional Sh	reets)	Yes No		L	og Formation	n (Top), Depth and	i Datum	Sample
Samples Sent to Geological Survey				Nam	e tachment		Тор	Datum
Cores Taken Electric Log Run Electric Log Submitted (If no, Submit Copy)	Electronically	Yes No		See al	aciment			
List All E. Logs Run:								
		CASIN Report all strings so	NG RECORD	✓ Ne	_	on, etc.		······································
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weig Lbs./		Setting Depth	Type of Çement	# Sacks Used	Type and Percent Additives
Surface	12	7	20		42	Regluar	8	
Longstring	5.625	2.875	6.5		1093	60/40 Pozmix	130	
		ADDITION	IAL CEMENTIN	IG/SQU	EEZE RECORD			
Purpose:  —— Perforate  —— Protect Casing  —— Plug Back TD	ect Casing		# Sacks	Used		Type and Pe	rcent Additives	-
Plug Off Zone	-							
Shots Per Foot		N RECORD - Bridge Pootage of Each Interval F				ture, Shot, Cement s nount and Kind of Mate		Depth
2	1048 to 1056 w/17	shots						
	777-64-1							
TUBING RECORD:	Size:	Set At: 1044	Packer At;		Liner Run:	Yes ✓ No		
Date of First, Resumed Pr 11/4/2011	oduction, SWD or ENH	R. Producing M	ethod:		Gas Lift O	ther (Explain)		
Estimated Production Per 24 Hours	Oil B	bls. Gas	Mcf	Wate	r Bb	is. Ga	s-Oil Ratio	Gravity
DISPOSITION  Vented Sold  (If vented, Submi	✓ Used on Lease	Open Hole	,	COMPLE Dually (Submit A	Comp. Com	mingled nit ACO-4)	PRODUCTIO	N INTERVAL:

#### Leis Oil Services, LLC

1410 150th Rd Yates Center, KS 66783

#### Invoice

Number: 1001

Date:

October 24, 2011

Bill To:

Greg Lair Piqua Potro 1331 Xylan Rd Piqua, KS 66761 Ship To:

Greg Lair Piqua Petro 1331 Xylan Rd Piqua, KS 66761

		· •		
PO Number	_	T	THE IS NOT THE PARTY OF THE PAR	
PO NUMBER	Terms	i	Project	
	A A MARK MARK		· rojact	
i i		-1.		
		į.	Wingrave 6 wells	

Date	Description	Hours	Rate	Amount
10-5-11	Digging Drill Pit	1.00	100.00	100.00
10-5-11	cement for surface	8.00	11.00	88.00
10-6-11	Drilled Wingrave 48-11	1,070.00	6.00	6,420.00
10-10-11	Digging Drill Pit	1.00	100.00	100.00
10-10-11	cement for surface	8.00	11.00	88.00
10-11-11	Drilled Wingrave (8-11)	1,070.00	6.00;	6,420.00
10-12-11	Digging Drill Pit	1.00	100.00	100.00
	X cement for surface	8.00	11.00	88.00
10-13-11	Drilled Wingrave 46-11	1,096.00	6.00	6,576.00
0-14-11	Digging Drill Pit	1.00	100.00	100.00
10-14-11	cement for surface	8.00	11.00	88.00
0-17-11	Drilled Wingrave WGG 5-11	1,072.00	6.00	6,432.00
.0-18-11	Digging Drill Pit	1.00	100.00	100.00
0-18-11	cement for surface	8.00	11.00	88.00
0-19-11	Drilled Wingrave 49-11	1,090.00	6.00	6,540.00

 0-30 days
 31-60 days
 61-90 days
 > 90 days
 Total

 \$40,092.00
 \$0.00
 \$0.00
 \$40,092.00





TICKET NUMBER	33280
LOCATION FURKE	
FOREMAN Reck / all	لدين

28.10

March Land

SALES TAX

ESTIMATED

7.3%

54.00

3374.30

150.77

PO Box 884, Chanuto, KS 66720 620-431-9210 or 800-467-8876

4402

Ravin 3737

FIELD TICKET & TREATMENT REPORT CEMENT

	or 800-467-8676			CEMENT	07-27955	1955		
DATE	CUSTOMER#	WELL	NAME & NUM	BER	SECTION	TOWNSHIP	RANGE	COUNTY
<i>John) i</i> Customer	4950	Wingrave	46-11		16	245	166	Woodsen
CUSTOMER	Piqua Petro	•		<b>,</b>	and the second			
MAILING ADD	RESS	el cum	· · · · · · · · · · · · · · · · · · ·	<b>∤</b> ├-	TRUCK#	DRIVER	TRUCK	DRIVER
		Δ.		<b>│</b>	570	Allens.		
CITY	1331 Yylan	STATE IZ	OP CODE	<b>├</b>	441	J.P.		
	21919	¥5		-				ļ
JOB TYPE			5/2	.HOLE DEPTH_				<u> L</u>
CASING DEPT		DRILL PIPE	<u> </u>	TUBING 2%	4 4	CASING SIZE & V		
SLURRY WEIG		SLURRY VOL_3	4 4	WATER gal/sk_			OTHER	
DISPLACEMEN	n /_3	DISPLACEMENT	7.05/	WAIEN GREEK_		CEMENT LEFT IN	CASING_0'	
		ooredemen)	200	PS1 <u>7000_0</u>	me plus	RATE		
tempurno.	Safety meet	mg - Kig up	13 278	_ <u>59'\</u> 2	Sup 5 Bt	Luetcabo	i. Ouad	300=
-gel-flish	سلطاق	eter spaces	Clused	<u>/30 345 (6</u>	Of the Resort	h cecest u/	4ª Rol-soul	x 490
<u>-941 + /</u>	20 caces @	13.4 - / 201	viela 1.1	ام نماری س	طدمند رصعا	et and + is	ex dea S	Lahres.
ــــا <i>ماداداد</i> ــــــــــــــــــــــــــــــــ		Tresh Lot	u trant i	and ordina	SON PSI.	. Bus alm	e den desa	## #1 L
مناللين	@ 500 est	Good cen	ent setten	40 012. = 3	66/ store	C Job capeles	L D. J.	
		-						
					· · · · · · · · · · · · · · · · · · ·			
		· · · · · · · · · · · · · · · · · · ·	- 1 ********************************			***************************************		****
			· 746	ock.				
ACCOUNT								
ACCOUNT CODE	QUANTY	Dr UNITS	DES	SCRIPTION of SE	RVICES or PRO	POUCT	UNIT PRICE	TOTAL
5401	/	p	UMP CHARGE	<u> </u>			925.00	275.00
5406	-		ILEAGE 201				n/s.co	
							_44	ale
//3/	130 -	V13 /	only Pro	OUX COOKE			11.95	(mm) 64
IUA	520*		PROFSER)					/553.50
11188	4507		20 sel					229.80 90.60
1107	116*		20 09062				.20	
	7.1	ſ	<u> </u>		****		1.70	77.00
540	56		bo mileon	ge bulk ork			+10	330.00
1/18/3	3∕2>*		sel-flush				_0/C	
			A CLAND				. 20	60.00

वयहगाउ 3521.07 TOTAL **AUTHORIZTION** DATE I acknowledge that the payment terms, unless specifically amended in writing on the front of the form or in the customer's account records, at our office, and conditions of service on the back of this form are in effect for services identified on this form.

2/8" to retur plas



# LEIS OIL SERVICES

111 East Mary • Yates Center, Kansas 66783 • (620) 625-3676

Operator License #: 30345	ACIM, 207 PROF
	API #: 207-27955-00-00
Operator: Piqua Petro, Inc.	Lease: Wingrave
Address: 1331 Xylan Rd Piqua, KS 66761	Well #: 46-11
Phone: 620.433,0099	
Contractor License: 32079	Spud Date: 10-12-11 Completed: 10-13-11
T.D.: 1096 T.D. of Pipe: 1093	Location: SEW-SW-NW-SW of 16-24-16E
Contain at the second	1560 Feet From South
	570 Feet From West
Kind of Well: Oil	County: Woodson

### LOG

Thickness	Strata	From	To	Thickness	Strata		
8	Soil and Clay	0	8	4		From	To
182	Shale	8	190	32	Broken Sand	1006	10
264	Lime	190	454	1	Shale	1010	10
17	Shale	454	471	2	Lime	1042	10
3	Lime	471	474	1 1	Shale	1043	10
9	Shale	474	483	2	Lime	1045	104
2	Lime	483	485	6	Shale	1046	104
35	Shale	485	520	<del></del>	Oil Sand	1048	109
77	Lime	520	597	42	Shale	1054	109
6	Shale	597	603				
22	Lime	603	625	<u> </u>		<u> </u>	
4	Shale	625	629				4.
27	Lime	629	656				
162	Shale	656	818				
4	Lime	818	822				
21	Shale	822	843				**********
10	Lime	843	853				
58	Shale	853	911				
4	Lime	911	915				
3	Shale	915	918				
13	Lime	918	931				
11	Shale	931	942		T.D.		1096
4	Lime	942	946		T.D. of Pipe		1093
15	Shale	946	961				
9	Lime	961	970				
11	Shale	970					
5	Lime	981	981				
20	Shale	986	986 1006				